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Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635099139, 1
64635099140, 2

64535093141, 3
64535093142, 4
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64535099139, 1
64535033140 2
64835099141, =2
64535099142, 4

Question Number : 2 Question Id : 64635025261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535093142 1
E4E35099144. 2
E4535093145. 3
64535093146, 4
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645350931421
64535099144, 2
64535093145, 3
E4E3509914E. 4

Question Number : 3 Question Id : 64635025262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

64535093147, 1
645350931458, 2
E4E35099149. 3
E4E35099150. 4
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Correct Marks: 2 Wrong Marks: 0
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64535093147, 1
6453503931458, 2
64535093149, 3
E4E35099150. 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535099151, 1
64535099152, 2
64535039153 =
64535033154 4

Question Number : 4 Question Id : 64635025263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64635099152,

E4535099153.
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Question Number : 5 Question Id : 64635025264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

645350931551
64535093156, 2
E4E350399157. 3
E4E35099158. 4

Question Number : 5 Question Id : 64635025264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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64535099155, 1
64535039156, 2
64835099157, 2
4535099158 4

Question Number : 6 Question Id : 64635025265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535093155, 1
64535093160, 2
64535093161, 3
64535093162, 4

Question Number : 6 Question Id : 64635025265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535093155, 1
64535093160, 2
64535093161, 3
EAEZ5099162. 4
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Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

64535093163, 1
64535093164, 2
E4E35093165. 3
E4E3509316E6. 4

Question Number : 7 Question Id : 64635025266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4535093163. 1
64535093164, 2
64535093165, 3
64535093166, 4

Question Number : 8 Question Id : 64635025267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535093167, 1
E4E3509916E. 2
E4E35093169. 3
64535093170, 4

Question Number : 8 Question Id : 64635025267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35099167. 1
64535093168, 2
645350931645, 3
64535093170, 4

Question Number : 9 Question Id : 64635025268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

64535099171, 1
64535099172 2
64535039173 2
645350393174, 4

Question Number : 9 Question Id : 64635025268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350931711
64535093172 2
64535093173, 3
E4E35099174. 4

Question Number : 10 Question Id : 64635025269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

645350931751
64535093176, 2
64535093177, 3
E4E35099178. 4

Question Number : 10 Question Id : 64635025269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535099175 1
64535099176, 2
64535099177, 5
64535039178, 4

Sub-Section Number: 2
Sub-Section Id: 6463501245
Question Shuffling Allowed : Yes

Question Id : 64635025270 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635025271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35099175. 1
E4E35099180. 2
E4535093181. 3
64535093182, 4

Question Number : 12 Question Id : 64635025272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

64535093183, 1
E4E35099184. 2
E4E350939185. 3
E4E35093186. 4

Question Number : 13 Question Id : 64635025273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535099187, 1
64535099188, 2
64535039189, =
645350331390, 4

Question Number : 14 Question Id : 64635025274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35099191. 1
E4E350991382. 2
645350931383, 3
645350991394, 4

Question Number : 15 Question Id : 64635025275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535099195, 1
E4E35099196. 2
E4535099197. 5
64535099198, 4
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Sub questions

Question Number : 11 Question Id : 64635025271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535099179,
64535099180,
4835099181,
4535099182,
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535099183, 1
4835099134, 2
4535099185 =2
645350991586, 4

Question Number : 13 Question Id : 64635025273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535099187, 1
64535099188, 2
64535039189, =
645350331390, 4

Question Number : 14 Question Id : 64635025274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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E4E35099191. 1
E4E350991382. 2
645350931383, 3
645350991394, 4
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Correct Marks: 2 Wrong Marks: 0
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64535099195, 1
64535099196, 2
64535099197, 5
64535039198, 4

Sub-Section Number: 3
Sub-Section Id: 6463501246
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635025276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535099199, 1
E4E35099200. 2
E4E35099201. 3
BAE35093202. 4
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Correct Marks: 2 WrongMarks: 0
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64535099199, 1
E4E35099200. 2
E4E35099201. 2
64535029202, 4

Question Number : 17 Question Id : 64635025277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
4350393203 1

E4E35099204. 2
E4E35099205. 3
EAE35093206. 4

Question Number : 17 Question Id : 64635025277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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45250959202 1

E4E35099204. 2
E4535093205. 3
BAE35093206. 4



Question Number : 18 Question Id : 64635025278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
646350992071
E4E35093208. 2
E4E2E0959209. 2
45235093210, 4

Question Number : 18 Question Id : 64635025278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535093207, 1
E4E350939208. 2
E4535099209. 5
64535099210, 4

Question Number : 19 Question Id : 64635025279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535099211, 1

EAEZ5099212. 2
E4E35099213. 3
B4535093214. 4

Question Number : 19 Question Id : 64635025279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E35099211. 1
B4E35099212. 2
64535093213, 3
64535093214, 4

Question Number : 20 Question Id : 64635025280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535093215, 1
64535093216, 2
64535099217, 3
EAEZ5099215. 4



Question Number : 20 Question Id : 64635025280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535093215, 1
E4E3509921E6. 2
EAE35099217. 3
B4E5350932158. 4

Question Number : 21 Question Id : 64635025281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535093215, 1
64535093220, 2
64535093221, 3
EABE35099222. 4

Question Number : 21 Question Id : 64635025281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535099219, 1
EAEZ5099220. 2
B4E35099221. 3
BAE35093222. 4



Question Number : 22 Question Id : 64635025282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

B4E35093223. 1
BAE35099224. 2
64535093225, 3
E4E3509322E. 4

Question Number : 22 Question Id : 64635025282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:
64535099223, 1
64535039224, 2
64835099225 =2
4535099226, 4

Question Number : 23 Question Id : 64635025283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

64535093227, 1
EAE3509922E. 2
EAE35099229. 3



EAE35099230. 4

Question Number : 23 Question Id : 64635025283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

64535093227, 1
E4E35093228. 2
EAE35099229. 3
EAE35093230. 4

Question Number : 24 Question Id : 64635025284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535093231, 1
64535099232, 2
E4E35099233. 3
EAE35099224. 4

Question Number : 24 Question Id : 64635025284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535093231 1

E4E25033232. 2

E4E250332335. 3

64535033234 4

Question Number : 25 Question Id : 64635025285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

64535093235, 1
E4E35099236. 2
EAE350399237. 3
E4E35093238. 4

Question Number : 25 Question Id : 64635025285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535099235, 1
64535039236, 2
64535039237, 2
E4E35099228. 4

Question Number : 26 Question Id : 64635025286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35099239. 1
64535093240, 2
64535099241, 3
645350399242, 4

Question Number : 26 Question Id : 64635025286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535099239, 1
E4E35099240. 2
E4E35099241. =2
64535029242, 4

Question Number : 27 Question Id : 64635025287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535099243, 1
E4E35099244 2
64535099245, 5
64535099246, 4



Question Number : 27 Question Id : 64635025287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35099243 1

E4E35099244. 2
E4E35099245. 3
BAE3509324E6. 4

Question Number : 28 Question Id : 64635025288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35099247. 1
64535099248, 2
64535099249, 3
64535093250, 4

Question Number : 28 Question Id : 64635025288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

64835099247, 1
4535099248, 2
64535029249, 5
64535099250 4

Question Number : 29 Question Id : 64635025289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35099251. 1
BAE35093252. 2
B4535093253. 3
64535093254, 4

Question Number : 29 Question Id : 64635025289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4535099251, 1

EAE35099252. 2
B4535093253. 3
64535093254, 4

Question Number : 30 Question Id : 64635025290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

64535093255, 1
E4E3509925E6. 2
EAE35099257. 3
E4E35093258. 4

Question Number : 30 Question Id : 64635025290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535093255, 1
64535093256, 2
64535093257, 3
EAEZ509925E. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501247
Question Shuffling Allowed : Yes

Question Id : 64635025291 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635025292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E35093259. 1
E4E35093260. 2



EAE35099261. 3
BAE35093262. 4

Question Number : 32 Question Id : 64635025293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35093263. 1
64535093264, 2
64535093265, 3
E4535093Z6E. 4

Question Number : 33 Question Id : 64635025294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

B4E35093267. 1
64535093268, 2
64535093269, 3
EAEZ5099270. 4

Question Number : 34 Question Id : 64635025295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535093271, 1
E4E35093272. 2
EAEZ5099273. 3
EAE35099274. 4

Question Number : 35 Question Id : 64635025296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835099275, 1
E4E35099276. 2
64535029277, 5
64535099278, 4

Question Id : 64635025291 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635025292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535099259, 1
64535039260, 2
64535039261, 2
4835099262 4

Question Number : 32 Question Id : 64635025293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535099263, 1
E4E35099264. 2
4535099265, 5
64535099266, 4

Question Number : 33 Question Id : 64635025294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535099267, 1
4835099268, 2
4535099269 2
64535029270, 4

Question Number : 34 Question Id : 64635025295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535099271, 1
64535039272, 2
48350992732 2
4535099274 4

Question Number : 35 Question Id : 64635025296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535099275, 1
64535039276, 2
64535033277, 2
E4E35099278. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501248
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635025297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635099279, 1

E4E35099280. 2
EAE35099281. 3



EAE35099282. 4

Question Number : 36 Question Id : 64635025297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4E2E099279.

EAEZ5093280.
EAE35099281.
BAE35093282,

[ N

Question Number : 37 Question Id : 64635025298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35099283. 1
64535093284, 2
64535093285, 3
64535093286, 4

Question Number : 37 Question Id : 64635025298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E250959283. 1

EAE35099284. 2
B4E35093285. 3
BAE35093286. 4

Question Number : 38 Question Id : 64635025299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35099287. 1
B4E35093288. 2
B4E35093285. 3
64535093230, 4

Question Number : 38 Question Id : 64635025299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099287, 1
E4E35099288. 2
4535099289 2
64535029290, 4

Question Number : 39 Question Id : 64635025300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

64535093231, 1
64535099232, 2
E4E350992393. 3
EAE35099294. 4

Question Number : 39 Question Id : 64635025300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535099291, 1
64535099292, 2
64535039293 =
64535039294, 4

Question Number : 40 Question Id : 64635025301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E35099255. 1
EAE350992396. 2
B4E35093297. 3



EAE350992398. 4

Question Number : 40 Question Id : 64635025301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535099295, 1
64535039296, 2
64535039297, 2
E4E35099298. 4

Question Number : 41 Question Id : 64635025302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B4535093255. 1
64535093200, 2
64535093201, 3
E4E350939202. 4

Question Number : 41 Question Id : 64635025302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535099299, 1
64535099200 2
64535039201, =
64535033202, 4

Question Number : 42 Question Id : 64635025303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

64535099303 1
64535029204, 2
64535039205, =
64535039206, 4

Question Number : 42 Question Id : 64635025303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535099203, 1
4835099204, 2
E4E35099205. 2
64535029206, 4

Question Number : 43 Question Id : 64635025304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E35093207. 1
64535093208, 2
645350393209, 3
64535093310, 4

Question Number : 43 Question Id : 64635025304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

E4535099207. 1
64535099208, 2
64535039209, =
64535039210 4

Question Number : 44 Question Id : 64635025305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35099211. 1
EAE35099212. 2
E4535093213. 3
64535093214, 4

Question Number : 44 Question Id : 64635025305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64535099211, 1
64535039212, 2
64535039213 2
4835099214 4

Question Number : 45 Question Id : 64635025306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64535099215, 1
E4E35099216. 2
4535099217, 5
64535099218, 4

Question Number : 45 Question Id : 64635025306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64535099215, 1
E4E35099216. 2
4535099217, 5
64535099218, 4

Question Number : 46 Question Id : 64635025307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535099319, 1
E4E350992320. 2
E4E35093221. 3
BAE350932322. 4



Question Number : 46 Question Id : 64635025307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509592191

E4E350992320. 2
E4E35093221. 3
BAE350932322. 4

Question Number : 47 Question Id : 64635025308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535099322, 1
E4E350992324. 2
E4E35099225. 3
BAE35093326. 4

Question Number : 47 Question Id : 64635025308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

64535099223, 1
64535099324, 2
64535093325, 3
E4E35099326. 4

Question Number : 48 Question Id : 64635025309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
646350993271
64635099325, 2

64535093329, 3
645350393330, 4

Question Number : 48 Question Id : 64635025309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4E35093327.

EAE3509332E.
EAE350932329.
E4E35093230.

[ N

Question Number : 49 Question Id : 64635025310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

645350992331, 1
64535039332, 2
648350992322 2
4535099224 4



Question Number : 49 Question Id : 64635025310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635099251, 1
64535099332, 2
64535039333 2
64535039334 4

Question Number : 50 Question Id : 64635025311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35099535. 1
E4E35099236. 2
B4E35093237. 3
64535093228, 4

Question Number : 50 Question Id : 64635025311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099335, 1
4835099236 2
4535099227, 2
64535029228, 4

FART 11 Physical Education

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350506
2

Online
Mandatory
96

96

200

Yes

No

1
6463501249
Yes

Question Number : 51 Question Id : 64635025312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

In mid 1970, the term ‘wellness” was adopted by

1. H.L. Dunn
2. R. Rodale
3. ] Travis

4.  B. Hetler

Options:
645350992339, 1
64535039240, 2



E4E35099241. 3
B4E350939242. 4

Question Number : 51 Question Id : 64635025312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

{99 1970 & A H 'IF0 ©U Y AR @a-9) TG HI S[0-[T 417

1. TUd.Td g3
2. IR.ISH
3. oo

4.  §ge

Options:

64535099239, 1
64535039240, 2
645350393241, 2
E4E35099242. 4

Question Number : 52 Question Id : 64635025313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The prorogation of nerve impulse from one node of Ranvier to other 1s called
1.  referral conduction
2. reflex conduction
3.  spatial summation

4. saltatory conduction
Options:
64635099343, 1
64635099344, 2
64635099345, 3
64635099346, 4

Question Number : 52 Question Id : 64635025313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IR 1 uw Ui | g Ui A 9T ST &1 T o1 He 87
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Options:

4835099343, 1
E4E35099244 2
64535029245, o
64535099246, 4

Question Number : 53 Question Id : 64635025314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The force that provides the body an upward thrust in water borne condition is

1. force of gravity
2. resistive force
3.  propulsive force

4. buoyant force

Options:

64535099247, 1
64535099248, 2
64535039249, =
645350393350 4

Question Number : 53 Question Id : 64635025314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

€ ¥4 O U1 & 3R [t 9 TR SR &1 59 Vg Sl ¢, Heard 8
. TFawd
2. yiys 4
3. e () d

4. TOAES 99 @59 BE)

Options:
645350992347, 1



E4E35099248. 2
64535093245, 3
64535093250, 4

Question Number : 54 Question Id : 64635025315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Locus of control describes the extent to which we believe that we are 1in control of our
lives.” This concept was developed by

1. C.D. Spielberger
2.  Richard H. Cox
3.  Julian B. Roftter

4. Mary Jones

Options:

64535099351, 1
64535039352, 2
64835099352 2
E4E35099254 4

Question Number : 54 Question Id : 64635025315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T @1 farguy 3 e @ aftfa Sear 8 o garT /11 € 35 gW o= SitaT & e
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1. 4 St "iaeR
2. =8 @ ol

3. e &t AR
4.  BHSY

Options:

4835099351, 1
E4E350993252. 2
64535099352,
64535099354, 4

Question Number : 55 Question Id : 64635025316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The respiratory exchange ratio for fat (palmitic acid) 1s

1. 035
2. 060
3. NF0
4. 080

Options:

64535099355, 1
64835099356 2
E4E350993257. 2
64535099358, 4

Question Number : 55 Question Id : 64635025316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 (UfeiRe whe) & o 49+ fiffwa sroma Qe womas Y= &

L. @55
2. 0.0
3. DI
4. 080

Options:
645350993551

E4E3503939556. 2
E4E350992357. 3
54535093258, 4

Question Number : 56 Question Id : 64635025317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which vitamin plays a role in calcium absorption?

1. Vitamin A
2. Vitamn D
3. Vitamin C
4. Vitamin E

Options:
64535099359, 1
64535039360, 2



E4E35099261. 3
EAE35093262. 4

Question Number : 56 Question Id : 64635025317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. o=
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4. T3

Options:

64535099359, 1
64535039360, 2
64535039361, 2
E4E35099362. 4

Question Number : 57 Question Id : 64635025318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When a sample 1s obtained by asking a participant, who 1s nitially selected in the
sample, to suggest some one else who muight be willing or appropriate for study, the
sample 1s labelled as

[

sequential sample
2. purposive sample
3.  snowball sample

4. consecutive sample
Options:
64635099363, 1
64635099364, 2
64635099365, 3
64635099366, 4

Question Number : 57 Question Id : 64635025318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. Smiae wiae
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3. i et
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Options:

64635099363, 1
E4E35099364. 2
E4E35099265. 2
4535099366, 4

Question Number : 58 Question Id : 64635025319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What will be the body mass index of a person who weighs 90 kg and has a height of
170 em?

1.30.41 ke/m?
2.31.14 kg/m’
3.32.16 kg/m?

4.32.71 kg/m?

Options:

64535099367, 1
48350993268, 2
4535099269 2
64535029270, 4

Question Number : 58 Question Id : 64635025319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. 3041 kg/m?
2. 3114 kg/m?
3. 3216 kg/m?

4. 3271 kg/m?

Options:

4535099267, 1
64535099368, 2
64535039369, =
64535039370, 4

Question Number : 59 Question Id : 64635025320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One of the technical skills of a manager 1s

1. method or skill to perform a specific task
2. ability to work well with people
3.  ability to understand abstract ideas

4. to motivate people to achieve their goals

Options:

64535099371, 1
64535039372, 2
64535039373 2
E4E35099274. 4

Question Number : 59 Question Id : 64635025320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535099271, 1



EAE350992372. 2
B4535093273. 3
645350932374, 4

Question Number : 60 Question Id : 64635025321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In comparison to anaerobic athlete, the heart of aerobic athlete 1s characterized by
1. 1increased cavity size of left ventricle
2. 1ncreased hypertrophy of cardiac muscles of left ventricle
3.  increased myocardial thickness of overall heart

4. pronounced thickness of left auricle walls

Options:

4535099275, 1
64535099376, 2
64535039377, 2
64535039378, 4

Question Number : 60 Question Id : 64635025321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 12 Baa &1 9g1 gon Hiad) smer
2. 9% Foad ot gea @1 AUl &1 9871 g8 SRuRg !
3. ggof fod &1 9g1 gon Adienfead Al
4, ftic 3t aed W F A Aiers

Options:

64535099375, 1
64535099276, 2
64535099377, 5
64535039375, 4

Question Number : 61 Question Id : 64635025322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The resistance between motion of a solid and flud 1s termed as
1.  rolling friction
2. flud friction
3.  solid friction

4. sliding friction
Options:
64635099379, 1
64635099380. 2
64635099381, 3
£4635099332. 4

Question Number : 61 Question Id : 64635025322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

319 3R e 3 T F A vieRty Heerd &
1. e fibee
2. T3S IR
3. difes fher

4. TEsten fibews
Options:
64635099379. 1
64635099380, 2
64635099381, 3
64635099382, 4

Question Number : 62 Question Id : 64635025323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The degree of correspondence between the capability of the students and the objectives
of the instructions is

(==

adaptability of the programme
2. goal of the programme
3. accuracy of the programme

4. appropriateness of the programme

Options:



E4E350992383. 1
B4535093284. 2
64535093285, 3
64535093386, 4

Question Number : 62 Question Id : 64635025323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
452509592385 1

E4E350992384. 2
E4535093285. 3
E45350932386. 4

Question Number : 63 Question Id : 64635025324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One of the endocrinological effect of obesity is
1.  carpal tunnel syndrome
2.  polycystic ovarian syndrome
3.  social stigmatization
4.  gastroesophageal reflex disease
Options:
64635099387,
64635099388

1
£
64535093389, 3
64535093330, 4

Question Number : 63 Question Id : 64635025324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099287, 1
64535039388, 2
64535039389, =
4835099290 4

Question Number : 64 Question Id : 64635025325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If mean, median, mode and standard deviation are known for a given data set, the
Pearson’s first skewness coefficient 1s equal to

3(Mean— Median)

I
o
5 3(Mean— M ode)
: o
3 3(Mean+ M edian)
' o
A 3(M edian + Standard deviation)

Mean
Options:
645350993911
64535033332, 2
64535093333, 3
64535099394, 4

Question Number : 64 Question Id : 64635025325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099291, 1
4835099292 2
E4E35099292. 2
645350292094, 4

Question Number : 65 Question Id : 64635025326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The degree to which a measure obviously involves the performance being measured is
termed as

1.  simple validity
2. confent validity
3.  critenion validity

4.  logical validity

Options:

64535099295, 1
64535039396, 2
645350333297, 2
E4E35099298. 4

Question Number : 65 Question Id : 64635025326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099295, 1
64535039396, 2
E4E35099297. 2
4535099298, 4

Question Number : 66 Question Id : 64635025327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A subject performs exercise of 5 minutes on Harvard step test. His recovery pulse count
after exercise for 1 to 11 minutes is 90, 2 to 21 minutes is 65 and 3 to 31 minutes is 45.

The physical efficiency index of the subject is

1. 60
2. A3
3. 80
4. 95

Options:

64535099399, 1
E4E835099400. 2
64535099401, 5
64535099402, 4

Question Number : 66 Question Id : 64635025327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



H% Feoige glds WU oK W 5 B &1 1AM 3l ¢l M & U S99 4S5 &
ARG B B Ufar 13 11 e & R I9et wse=1 90, 29 2L e & fmes ik 3 @

31 fore & frg 45 31 Ssviee &1 IS Gardr 99919 B

1. &0
2. @3

3. @0

Options:

64535099299, 1
64535099400, 2
64535039401, =
64535033402, 4

Question Number : 67 Question Id : 64635025328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Due to its creative nature management combines two resources to achieve desired
results. What are those two resources?

1. Artistic and non-artistic resources
2. Scientific and artistic resources
3. Human and Non-human resources

4, Practical and theoretical resources

Options:

64535099403, 1
64535039404, 2
64835099405 2
64535099406, 4

Question Number : 67 Question Id : 64635025328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099403, 1
64535039404, 2
64535039405 =
4835099406, 4

Question Number : 68 Question Id : 64635025329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The earliest person known to have invented the system of body classification 1s

1.  Emst Kretchmer
2. Hippocrates
3. Hall

4. Wilham Sheldon
Options:
4635099407 1
E4E350939408. 2
45250959409 2
4025093410, 4

Question Number : 68 Question Id : 64635025329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E35093407. 1
64535093408, 2
64535093405, 3
64535093410, 4

Question Number : 69 Question Id : 64635025330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The constant amount of lactic acid present in blood even during resting conditions is
1. 5 mg per 100 ml of blood

2. 10 mg per 100 ml of blood

e

15 mg per 100 ml of blood

b

20 mg per 100 ml of blood

Options:

64535099411, 1
64535099412 2
64535039413 =
64535039414 4

Question Number : 69 Question Id : 64635025330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535099411, 1
64535099412, 2
64535099412
64535039414 4

Question Number : 70 Question Id : 64635025331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a running event the rate at which the velocity changes with respect to time is known
as

1. velocity

2. deceleration
3. speed

4. acceleration

Options:

64535099415, 1
64535039416, 2
64535039417, 2
4835099418 4

Question Number : 70 Question Id : 64635025331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099415, 1
4835099416 2
4535099417 2
64535099418, 4

Question Number : 71 Question Id : 64635025332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

International Society of Sports Psychology was established in the vear

1. 195
2. 1944
3. 1965
4. 1974

Options:
64535099419, 1



E4E35099420. 2
64535093421, 3
BAE3509342%. 4

Question Number : 71 Question Id : 64635025332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 1955
2. 1944
3. 1965
4. 1974

Options:

64535099419, 1
4535099420, 2
64535099421, 5
64535039422, 4

Question Number : 72 Question Id : 64635025333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Individualisation of instructions 1s

1.  brnging flexibility in instructions
2. modifying instructions as per the capability of the students
3.  making it appropriate

4.  making it goal-based.
Options:
64635099423, 1
64635099424, 2
64635099425, 3
64635099426, 4

Question Number : 72 Question Id : 64635025333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535099423, 1
64535099424 2
64535039425 =
64535039426, 4

Question Number : 73 Question Id : 64635025334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The leadership theories related to management are

1.  Trait, behaviour and repetitive
2. Trait, behaviour and contingency
3. Trait, evaluative, repetitive

4. Trat, repetifive, competitive
Options:
64635039427, 1
64635099428, 2
£4635099429. 3
64635099430, 4

Question Number : 73 Question Id : 64635025334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350939427 1



EAE35099428. 2
64535093425, 3
64535093430, 4

Question Number : 74 Question Id : 64635025335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A test designed to measure “native neuromuscular skill capacity” is
1.  Iowa-Brace test
2.  Metheny-Johnson test
3.  Adam’s sport skill test

4.  Larson test
Options:
64635099431, 1
64635099432, 2
£4835099433. 3
64635099434, 4

Question Number : 74 Question Id : 64635025335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Afeq TR AR fpa FURK A= & e Jar fean mar wher &:
1. SMEsiSsu-sy Teu
2. HYH-SET TAE0
3. USH Wi e uligmm
4. T odigmr

Options:

64535099451, 1
64535029422, 2
64535099422 5
64535039434 4

Question Number : 75 Question Id : 64635025336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In classical test theory an obtained score, which comprises a person’s true score and
EITor Score 18

L. true score
7 observed score
3. standard score

4. error score

Options:

64535099435, 1
64535033436, 2
E4E35099427. 2
4535099428 4

Question Number : 75 Question Id : 64635025336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oy wter figia @ vraie forad et safd @1 aurd w1 SR 3fe | wnfie g 8, 39 @
g oI 87

1. gyrfae
2. Ofdgmas
3. HFE®HN

4. Ffeaw

Options:

64535099435, 1
E4E35099436. 2
64535099427, 5
64535099428, 4

Question Number : 76 Question Id : 64635025337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The axm of sports traimng 15—
1. improvement of sports performance
2. improvement of physical fitness
3. improvement of psychological fitness

4. improvement of technical and tactical fitness



Options:

64535099439, 1
64835099440 2
4535099441 =2
64535029442, 4

Question Number : 76 Question Id : 64635025337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W TiRIE0r BT 354 T—
1. WEUeREHgUR
2. RIS gpal § gur
3. HERYES gEa § guR
4.  qHle) AR gia-Ueg gudar ¥ gUR

Options:
64535099459, 1

E4E350939440. 2
E4E35099441. 3
BAE3509344%, 4

Question Number : 77 Question Id : 64635025338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Epidemiology refers to :
1. Science of Preventive and Curative Medicine
2. Science of Preventive and Community Medicine
3.  Science of Primary and Secondary Medicine

4.  Science of Preventive and Social Medicine
Options:
64635099443, 1
64635099444, 2
£4635099445, 3
64635099448, 4

Question Number : 77 Question Id : 64635025338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HeTRI T (ufrSfsieioh) ferge! Fafifd @a 82
1. JSUHeR 3R ITaRIHS sy fage
2. UHUMST 3R Weae Aty e
3. e oR fidiae oief fagm
4. JpUmHH 3R TS ety g

Options:

64535099443, 1
64535039444 2
64835099445 =
4535099446 4

Question Number : 78 Question Id : 64635025339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The learning of life values and standards of good behaviour from parents can also be
called :

1.  secondary socialisation
2. pnmary socialisation
3. natural socialisation

4. planned socialisation

Options:

64535099447, 1
64535039445, 2
64835099449 =
E4E35099450. 4

Question Number : 78 Question Id : 64635025339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

H1a- o | g geal 3R IedeR & AFa! & SHUTH & 69 30 719 9 Y Se1 o1 82
1. fedios umsiao
2.  UNHS FHSIH
3. Agfie SHmIGI
4. i gHTSie

Options:




E4E35099447. 1
645350934458, 2
64535093445, 3
645350393450, 4

Question Number : 79 Question Id : 64635025340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The readymade intramuscular stores of ATP-PC 1in human body are :
1. 570to 690 mM
2. 120to 180 mM
3. 450to 510 mM

4. 1000 to 1200 mM

Options:

64535099451, 1
64535039452 2
64535039453 =
64835099454 4

Question Number : 79 Question Id : 64635025340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT IR A T URi & daR (ES) 3id: Ui HSR GITRe R ¥R ) §

570 9 690 mM

—

2. 1209 180 mM
3. 4509 510 mM

4. 1000 91200 mM

Options:

64535099451, 1
64535039452, 2
64835099452 =2
E4E35099454 4

Question Number : 80 Question Id : 64635025341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Advantage in form of speed can be obtained using :
1.  Class—I and Class—II levers
2. Class—II and Class—III levers
3. Class—I and Class—III levers

4, Class—I, Class~II and Class-III levers

Options:

64535099455, 1
64535039456, 2
64835099457 2
64535099455, 4

Question Number : 80 Question Id : 64635025341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FofeTed # 3 e Iuan ax Ao ard U a1 o1 9@ 82
1. goft-1 3R Suft-11 I5ias (day)
2. FOR-II 3R Soft-111 s
3. g1 SR Aofi-111 Ia®
4. SO, Sofi-11 SR SoR-I1I I e

Options:
E4E350393455. 1

E4E350393945E6. 2
E4E35093457. 3
E4535093458. 4

Question Number : 81 Question Id : 64635025342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Progressive relaxation techmque was developed by :

b= Edmund Jacobson
2. Robert S. Weinberg
3. Ronald Smith

4.  Donald Meichenbaum

Options:
64535099459, 1



E4E35093460. 2
64535093461, 3
B453509346%. 4

Question Number : 81 Question Id : 64635025342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR T donie [ [detaa @1 di?
1. TUSHESSolaes
2. g o9 d=a
3. TS By
4.  SHIcs BREEH
Options:

E4E35099459. 1
E4E35093460. 2
64535093461, 3
64535093462, 4

Question Number : 82 Question Id : 64635025343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The time allotted for physical education programme is directly proportional to :

1. nature of school

2. content of programme

o

locality of school

4. interest of the students

Options:

64535099463, 1
4835099464 2
E4E350994E5 =2
64535099466, 4

Question Number : 82 Question Id : 64635025343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



iR Rren wriwH & e smdfea 99a [Fae srama: smuTa® giale?
1. g & @e o
2.  F%Y o [Avg-ag]
3. faeme ot Ry
4. TRl ot vf

Options:
645350939463 1

E4E350939464. 2
E4E35093465. 3
EAE35093466. 4

Question Number : 83 Question Id : 64635025344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
For confirmation of AIDS/HIV virus, which of the following tests 1s used?

| ELISA
.4 Western Blot
2 Eastern Blot

4. Aldehyde test

Options:
6435033467, 1

E4E350934E8. 2
E4E3509394645. 3
E4E35093470. 4

Question Number : 83 Question Id : 64635025344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

USH/Ta. omE. 4. @t g | Fuftied 7 | fewe uam fear e 872
1. femn
2. d%Awc
3. R4
4. TUSERES CX

Options:



EAE350939467. 1
64535093468, 2
645350934645, 3
645350393470, 4

Question Number : 84 Question Id : 64635025345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which is NOT in perview of the principles of cyclicity of training characteristics?

1.  Different tasks cannot be tackled simultaneously
2. Single cycle of training should be formulated for top form
3.  Certain tasks of fraiming have to be tackled repeatedly

4. For successful participation sportsman must achieve top form

Options:

64535099471, 1
4535099472 2
64535099472 5
64535039474 4

Question Number : 84 Question Id : 64635025345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frofeied ® 8 @ 91 uRam RRwarsh ot astaa & R & e 3 761 o1 82
. 3IEI-3(eFT Sl S JY-H1Y Te! ar o gl
2. HEAH UERH & 1 fRUfd % o v wierr = S S ey
3. Ui F $B BT B IR-IR AU usar 2

4. Em%mmﬁmmmﬁ%ﬁﬁmﬁ

Options:

64535099471, 1
64535039472 2
64535039473 =
4835099474 4

Question Number : 85 Question Id : 64635025346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Two events are said to be mutually exclusive :
1. when both events occur simultaneously
2. when one of them cannot be expected to occur in preference to other event
3. when the likelihood of the occurrence of both events 1s same

4. when the occurrence of one implies that the other cannot occur
Options:
64635099475, 1
64635099476, 2
64635099477, 3
64635099478, 4

Question Number : 85 Question Id : 64635025346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o il & e 3 AT ST &
. OIS WU -9 g g |

7. mﬁ?ﬁ@%wwﬁ%wmﬁ%uﬁmaﬁﬁmqﬁﬁm
H&dl gl

3. S Wyl & 9fed 8 31 WHTa U 99 Skt |
4. o9 U3 WYl $ gicd g1 @ ard gl § [ gent wuf T 8 9@t g

Options:

64535099475, 1
64535039476, 2
E4E35099477. 2
64535099475, 4

Question Number : 86 Question Id : 64635025347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A man weighing 150 Ibs has a 30% body fat. How much this man shall weigh, if he
reduces his fat% to 257

1. 120 1bs
2. 1251bs
3. 1351bs
4. 1401bs

Options:



E4E350994739. 1
64535093480, 2
64535093481, 3
645350393452, 4

Question Number : 86 Question Id : 64635025347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

150 UiE 3917 & U &fad & IR H 30% T4 £ afc 98 SAfed 3= IR St a91 HI 9
25% B Ad1 ¢ dl TG IoI- a1 T2

120 9f
2. 1254m
3. 1350
4. 140

Options:

64535099479, 1
64535033430, 2
64835099481, =2
45350994582 4

=t

Question Number : 87 Question Id : 64635025348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Various types of budget are :

1.  School budget, College budget, Umversity budget

e

Club budget, Corporate budget, Performance budget

P

Primary budget, Secondary budget and Tertiary budget

4.  Zero based budget, Fixed budget, Programme based budget

Options:

645350994583, 1
64535039454, 2
648350994585 =2
4535099456, 4

Question Number : 87 Question Id : 64635025348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A TR & Foic 8
1. faemem soie, AT seie, fayfaema sse
2. &9 §9IC, HIUNC Foie, e seic
3. T, Rdue ok gl seic
4. =T 3G gore, Feifa soie, o snutia eie

Options:

45350994583, 1
64535099484, 2
64535039485 =
64535039456, 4

Question Number : 88 Question Id : 64635025349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Chief Judges of the Ancient Olympic Games were also known as

1.  Philostratus
2. Hellanodikas
3.  Passinodika

4. Pausamas

Options:
4535093457, 1

E4E35093488. 2
E4E350939489. 3
54535093430, 4

Question Number : 88 Question Id : 64635025349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTEIS 3fifeitre Wl & 0 o o9 3R U § Ht o9 S 9?
1. fraxcH

2. gOMie®g

Options:



EAE35099487. 1
64535093488, 2
64535093485, 3
645350393430, 4

Question Number : 89 Question Id : 64635025350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the right sequence of sensory-motor integration from the options given below :

(a) Perception of receptors

(b) Interpretation by CNS

(c) Afferent transfer of impulse
(d) Efferent transfer of impulse

Select the correct option :

(c), (a), (b), (d)
2. (a),(c), ()
3. (b),(d), (), @
4. (a),(d),(b), (©)

Options:

4535099491, 1
64535099492, 2
64535099492 5
64535039494 4

==

Question Number : 89 Question Id : 64635025350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= fGu 70 [de el § 9 Sd-S9a GHOA & ol 3HH I UgaH HIf:
(a) SfHTEs & YR
(b) 9O oF gRT e
(c) SHTAT 1 HTHATE! SR
(d) 3T ST UATE! SaTor
T8l fiee g :
1. (c), (a), (b), (d)
2. (a),(c), (b), (@
3. (), (d, (). @
4. (a), (d), (b (@
64635095491, 1
64635099492, 2

E4E35099453. 3
E4E35099454. 4

Question Number : 90 Question Id : 64635025351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are quadriceps group of muscles?
(a) Vastus lateralis
(b)  Abductor longus
(¢) Rectus femoris
(dy Vastus medialis
(e} Adductor magnus
(f) Biceps femoris
Select the correct option :
. (a), (b), (d)
2. (a),(b),®
3. (a),() D
4. (a),(e), (¢

Options:

E4535099495. 1
64535099496, 2
64535039497, =
64535039495, 4

Question Number : 90 Question Id : 64635025351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) dCd deied
(b) USTIAT™
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(d) areq Afgerfe
(e) USRI HTTH
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1. (a), (), (d)
2. (@, 0,0
3. (a),(c), (@
4. (a), (&), (c)

Options:

64535099495, 1
4535099496, 2
64535099497, 5
64535099498, 4

Question Number : 91 Question Id : 64635025352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Maslow developed a theory of motivation that aimed to explain all the types of human
need and mark them in the order people seek to satisfy them.

These needs are as follows :

(a) Social needs

(b) Safety needs

(¢) Esteem needs

(d) Physiological needs

(e) Intelectual needs

Rank them according to the needs and choose the right option :

L. (b), (@), (@, (&), (©)
2. (d), (b), (a), (c), (&)
3. (a), (0), (), (d), (o)
4. (e), (b), (), (@), (d)

Options:
E4E350934599,

E4E350393500,
E4E35093501.
B4535093502,

[ R

Question Number : 91 Question Id : 64635025352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) THIS STETHATT

(b) GR&T FEeh A

(¢) THH UM P ATagHAT

(d) INNT AEaHan

() WG® mazaman

JTIRIHAIS & IR 5% HH cifor oyl Fufufed et § 3 98 Ao o190 Sifon ;
1. (b), (@), (), (e), (¢)
2. (A, (b), (a), (c), (e)
3. (a), (©, (), @, @&

4. (e), (b), (¢), (a), (d

Options:

64535099499,
E4E835093500,
E4E35093501.
4535099502,

o IR

Question Number : 92 Question Id : 64635025353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Allotment of periods with instructions in sequence 1s called :
1.  official directives
2. micro scheduling
3.  instructional scheduling

4. macro scheduling

Options:

645350939503, 1
648350939504, 2
E4E35099505. 2
64535029506, 4



Question Number : 92 Question Id : 64635025353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HHTTIR (e & 1Y BT BT 3TEc Heamd ¢

1. i e
2. qEH oA

3. eI S
4. Y AT

Options:

648350939503, 1
E4E35099504. 2
64535099505, o
64535039506, 4

Question Number : 93 Question Id : 64635025354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Non-modifiable risk factors of diabetes are :

[

advanced age, family history, race
2. psvchological stress, advanced age, genetics
3.  distribution of fat in the body, high cholesterol, family history

4. unhealthy diets, high cholesterol, obesity

Options:

64535099507, 1
645350339508, 2
64535033509, =
64835099510 4

Question Number : 93 Question Id : 64635025354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT @ERES) & R-Eiaeiy Sien sRe &
1. ¢ g3 3, Uiaie sfagr, veiid
2. HARNIH® &¥d (H), 931 g3 oY, IRS! @i
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4. IERAT AER, I Hlagid, AT

Options:

64535099507, 1
64535033508, 2
64835099509 2
E4E35099510. 4

Question Number : 94 Question Id : 64635025355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Intensity zone for endurance traiming 1s

1.  70-80% resistance application
2. 60-70% resistance application
3. 90-100% resistance application

4. 30-50% resistance application

Options:

4835099511, 1
E4E35099512. 2
64535099512,
64535099514, 4

Question Number : 94 Question Id : 64635025355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt wero & forg diteran & &
70-80% HARIY 3TN
2. 60-70% WicRIY 3w
3. 90-100% UfeRIY 3vANT
4. 30-50% Ty SrEwan

Options:
64535099511, 1

—



E4E35099512. 2
64535093513, 3
64535093514, 4

Question Number : 95 Question Id : 64635025356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the aim of the last phase of a year-round periodization :
1.  Super compensation
2. Peak-up of every ability
3.  Recovery

4. Correction of every fault

Options:

64535099515, 1
64835099516 2
E4E35099517. 2
64535099518, 4

Question Number : 95 Question Id : 64635025356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qy H¥ & HTFUSIHI0 & W TR0 & I D U HIOT ¢

. 3ffe gffaggor
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Options:

64535099515, 1
64535033516, 2
648350939517, 2
4535099515, 4

Question Number : 96 Question Id : 64635025357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘categorical” vanables 1s used for the data measured on

1. interval and ordinal
2. ratio and interval

3.  ordinal and nominal

4.  interval and nominal

Options:

64535099519, 1
E4E350939520. 2
E4535099521. 5
64535099522, 4

Question Number : 96 Question Id : 64635025357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099519, 1
E4E350939520. 2
E4535099521. 5
64535099522, 4

Question Number : 97 Question Id : 64635025358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the three items are the part of Barrow Three Item General Motor Ability Test
for men?

1.  Standing Broad jump, 60-yard dash, soft ball throw.
2. Zig-zag run, medicine ball put (8 1bs), wall pass
3. Soft ball throw, medicine ball put (8 1bs), standing broad jump

4.  Standing broad jump, zig-zag run, medicine ball put (6 1bs)

Options:



EAE35099523. 1
64535093524, 2
64535093525, 3
64535093526, 4

Question Number : 97 Question Id : 64635025358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i A 7e IEE1 & oy S A He I SEe &Hdl Te 1 iR €2
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4. RiEn e o, -8 =, AfsiE a1 6 us)

Options:

64535099523, 1
E4E350939524. 2
E4E35099525 =2
64535099526, 4

Question Number : 98 Question Id : 64635025359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pick out the correct group of words resembling the basic functions of management :
1.  Planning, Orgamsing, Coordinating, Commanding and Controlling
2. Planning, Pivoting, Accelerating, Manipulating and Controlling
3. Orgamzing, Mampulating, [mtiating, Engineering and Coordinating

4. Cooperating, Manipulating, Steering, Executing and Managing.

Options:

64535099527, 1
64535033528, 2
648350939529 2
4535099520, 4

Question Number : 98 Question Id : 64635025359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR & 0 fareandt & 9exg Ysal & 98] THE B 999 B
1. e o Sied ST, 00 S, AT o1 SR i &
2. TareH ST, e, asl @, SIaeR S iR FAaH s
3. HI3d ¥, AER DI Tl R S, Suli=aia ik 699 Sl
4, HEAN ST, ATER DIV S, TY TG ST R TR BT

Options:
E4E35093527. 1

EAE35093952E8. 2
E4E35099529. 3
E4535093530. 4

Question Number : 99 Question Id : 64635025360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the correct sequence of chronology of undermentioned Olympic Games :
1. Rome, Tokyo, Mexico City, Munich
2. Munich, Mexico City, Tokyo, Rome
3.  Tokyo, Munich, Mexico City, Rome

4. Rome, Mumnich, Mexico City, Tokyo

Options:

64535099531, 1
645350339532, 2
64835099522 =2
E4E35099524 4

Question Number : 99 Question Id : 64635025360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= fou T efiferide wal & 9g FasmHEYR T -
1. 3w, dfea), i R, i
2. W Afdaw! R, afea, 3w
3. o, i, At a3
4. 3w o AR R, A

Options:



E4E35099531. 1
B4535093532. 2
64535093533, 3
645350393534, 4

Question Number : 100 Question Id : 64635025361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the heat disorders in ascending order of their severity :
(a) Heat stroke

(b) Heat synacope

(c) Heat cramps

(d) Heat exhaustion due to water depletion
(e) Heat exhaustion due to salt depletion
Select the correct option :

(d), (&), (b), (c), (a)

2. (&), (c), (b), (a)

3. (b),(d), (e), (o), ()

4. (o), (b), (d), (e). (a)

Options:
64535093535, 1

EAE350939536. 2
B4535093537. 3
64535093538, 4

[—

Question Number : 100 Question 1d : 64635025361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



dg fAeRl @t I THIRA! & SH9R 95d ®H H aieyd HIfo :
(a) dOTETd

(b) dT GEETHY

(c) dm s

(d) ofa Bl HHI S SR arg uierifa

(e) AU Bl HH P HRU AT URHifA

Tgl faeeu gig -
1. (d),(e) (b), (), (a)
2. (e),(d),(c), (b),(a)
3. (b),(d). (&) (), (a)
4. (c), (b). (d), (e). (a)

Options:

64535099535, 1
64535039536, 2
64535033537, 2
648350995328 4

Question Number : 101 Question Id : 64635025362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Find the correct fluid friction dependent factors from the options given below :
(a) Relative speed between the object and fluid
(b) Relative displacement against time between fluid and object
(¢} Cold and hot sensation of fluid
(d) Composition of surface
(e) Flud colour
. (a),(b)and(c)
2. (b), (c)and (d)
3. (a),(c)and (¢)
4. (b), (c)and (e)

Options:

64535099539, 1
64535039540, 2
64535039541, =
E4E350939542 4

Question Number : 101 Question Id : 64635025362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hd fiu T Aol ° 9 9Et ad uikadi gy i¥d SRS| (Gass e feu=ve hacy)
@l Uga Sl :

(a) O AUTRA > S MofEe aa

(b) O Ud 95 F 99 9HG 31 ga § amofde s
(¢) oGP Ud 3 IdTT

(d) 9dg S F&=

(e) @B

(a), (b) 3R (¢)

2. (b),(c) 3R ()

(=1

3. (a),(c) MR (e)
4. (b),(c) MR (e)

Options:

64535099539, 1
64535033540, 2
E4E35099541. =2
64535099542, 4

Question Number : 102 Question Id : 64635025363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Bandura, learming of behaviour takes place in four stages. They are as
follows :

(a) Retention
(b) Reproduction
(¢) Attention
(d) Reinforcement
Arrange them sequentially and choose the correct option :
L. (&), (b), (c), (d)
2. (0), (@, (b), (d)
3. (b, (e), (@), (a)
4. (d), (b), (@), (c)

Options:

64535099543, 1
64535039544 2
648350939545 =2
4535099546, 4

Question Number : 102 Question Id : 64635025363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TS & TR FAER BT STRTH IR =i # grar ¢ | 3 Fofaraa g -

(a) GfcemRor
(b) FTRdRT
(c) wENT
(d) v

HHEIR FarUd ST aur T8 Ao o1 999 P
1. (a), (), (), (d
2. (c), @, (), @
3. (b, (c) @, (@
4. (D, (b), (a), (¢)

Options:

64535093543 1
64535099544, 2
64535099545 o
64535039546, 4

Question Number : 103 Question Id : 64635025364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Flexibility in curriculum as per the needs of the society 1s its

1. inclusiveness
2. Tesponsiveness
3.  openness

4.  adaptability
Options:
64535099547, 1
64535039548, 2
64535033549 =
E4E35033550, 4

Question Number : 103 Question Id : 64635025364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U B &l & (o ° gaaedl H deids- saotk:

1.  goaRme

2. vifpaered g
3. TamEe

4. TP

Options:

64535099547, 1
645350339548, 2
64835099549 =2
E4E35099550. 4

Question Number : 104 Question Id : 64635025365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which group of words signifies the abbreviation ‘ABC’ used during first aid
procedure?

1. Airway, Breathing, Cardiac
2. Assessment, Breathing, Circulation
3.  Amrway, Body check, Cardiac

4. Airway, Breathing, Circulation

Options:

64635099551, 1
648350939552 2
E4535099552. 5
64535099554, 4

Question Number : 104 Question Id : 64635025365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 91 TG THE WUTH® IUER WigsdT (B US Wiger) & oRH U §t. T &1 Hard Hear 87
1. 9 9r, 49, ged Sadt
2. TR, A, TREER (FHas)
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Options:

64535099551, 1
64835099552 2
E4E35099552 =2
64535029554, 4

Question Number : 105 Question Id : 64635025366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following phases of reaction ability in order of sequence

(a) Time taken by the signal to reach the sense organ

(b) Time taken by the CNS to generate motor nerve impulse
(¢) Time taken by the signal to reach the CNS

(d) Time taken by the sense organ to generate a nerve impulse
(e) Time taken by the motor nerve impulse to reach the muscle

Select the correct option :

. (@), (b), (c), (d), (&)
2. (a), (c), (d). (B), (&)
3. (a), (), (0), (0, (®
4. (a), (d), (c), (), (&)

Options:

64535099555, 1
64835099556 2
E4E35099557. =2
64535099558, 4

Question Number : 105 Question Id : 64635025366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



yfafear-eman & Fofeiaa =Rl @ 3Rd A § efn S
(a) HHhd S FH-al d% Ugd- 8 o 9HYg
(b) Fsa a3 gR1 Mae! dfeT- 3T IOF F ° T 9
(¢) dHd D Fl d% Ugd= 8 @ 90
(d) = gRI dBeT JaT 3= &3 § @ 99
(e) Tifae! dieT AT & HiFu 9@ Ugda- H & 994
el fawe gihu -
1. (@, (b), (), (d), (e)
2. (a) (@, (@, (@), (e)
3. (a), @), (), (o), (&)
4. (@, ), (. @), @©

Options:
45250995551

E4E35093556. 2
B4E35093557. 3
64535093558, 4

Question Number : 106 Question 1d : 64635025367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Following are commands in SPSS—17 version for starting ANCOVA :

(a)
(b)
(c)
(d)
(&)

Analyze

Multivariate

Umnivanate

General linear model

Repeated measures

Select the correct sequence of commands from the options given below :

Options:

64535093559,
64535093560,
48350939561,
45350939562,

Question Number

I

2.

3.

4.

(a), (d) and (b)
(a), (d) and (e)
(a), (¢) and (d)
(a), (d) and (c)

[ N

: 106 Question Id : 64635025367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



SPSS-17H ANCOVA 3RY & & Rt s1agt s

(a) fazqwor
(b) Wg=
(¢) THN

(d) SHFY G Aisd

(e) YIGI® AU

#19 Ry T Rew # 9 98 0 ghw
(a), (d) 3R (b)

2. (&), ()R (e

—_—

3. (a), (c) ()
4. (a), (d) 3R (c)

Options:

64535099559, 1
64535033560, 2
E4E35099561. 2
64535099562, 4

Question Number : 107 Question Id : 64635025368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A person weighing 130 pounds climbs four steps in 0.52 seconds. The height of each
step 1s 7 inch. What 1s the power executed by that person?

1. 560.65 ft. Ibs/second
2. 571.45 ft. lbs/second
3. 583.33 ft. Ibs/second
4. 586.35 ft. Ibs/second

Options:

64535099563, 1
64535033564, 2
648350939565 2
64535099566, 4

Question Number : 107 Question Id : 64635025368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

130 Uis IO 9Ta U Jfed 0.52 IHUs A IR Gied Il &1 Uds el &1 =18 7 59 2
s o s RA R R ko) ot o o ez

1. 560.65 Wi Ui /AHTS
2. 571.45 9 Oig /A5US
3. 583.33 Wic Ui /45US
4. 58635 BT UiS /APUS

Options:
4535093563,

1
E4E35099564. 2
64535093565, 3
B4535093566. 4

Question Number : 108 Question 1d : 64635025369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Buss, AH and Perry M. (1992) constructed an “Aggression Scale” which consists of 4
factors namely

1.  Physical Aggression, Anger, Anxiety and Hostility
2. Physical Aggression, Verbal Aggression, Anger and Hostility
3.  Verbal Aggression, Stress, Anxiety and Hostility

4, Stress, Anxiety, Hostility and Anger
Options:
64635099567, 1
64635099563, 2
64635099569, 3
£4635099570. 4

Question Number : 108 Question 1d : 64635025369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



9, U . 3 OF UH. (1992) = U 'TUN Wha’ &1 (A far forad 4 oRe nfha &
1. SRR e, HiY, fear 3k e
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3. HINGE G, o9, a3 IR
4. o=, o, e ol Pl

Options:

E4535099567. 1
64535099568, 2
64535039569 =
645350339570, 4

Question Number : 109 Question 1d : 64635025370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Non-sporting facilities associated with mega sport events are
1. Games village, Gymnasium, Playground
2. Games village, City makeover, Transportation
3.  Civic services, Playground, Gymnasium

4. Stadia, Swimming pool, City makeover

Options:

4535099571, 1
64535099572 2
645350339573 =
64535039574 4

Question Number : 109 Question Id : 64635025370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faa Qg s & Hefia TR @age g §
1. @ g, formfrm, @ &1 fes
2. W M6, AR P B, IREET
3. AW JaTg, O &1 Agm, frefvay

4. wfEg Tk, I8 B SEH T

Options:



E4E35099571. 1
BAE35093572. 2
64535093573, 3
645350393574, 4

Question Number : 110 Question Id : 64635025371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AAHPER health related physical fitness test contains three test items from the fest
items listed below. Identify the test items from the options given below :

(a) Cardiorespiratory function test
(b)  Muscular strength
(¢) Body composition
(dy Gross body equilibrium
(e) Abdomunal and low back hamstring musculoskeletal function
(f)  Static strength
“hoose the right answer from the options given below :
L. (), (d),(e)
2. (a),(c) (&)
3. (0, (d), (D
4. (D, (c),(d

Options:

64535099575, 1
64535039576, 2
64535033577, 2
48350939578 4

Question Number : 110 Question Id : 64635025371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AAHPER T=7 T9t IRive emar tdiemr # &9 odemr A5 = 4 g9 22 #1° fou o
faedl 9 wdieur el @ ugaH &1 3R iU T el 8 § 98 I ST o

(a) SIfedl THUTEC] Bag e
(b) WU I
(¢) IRRIgT

(d) ToHe IR FGe
() USSIEFT 3R o 3% T Aupdl Wacd ha
H wRexy

. (@), (@, @)

2. (@),

3. (0, @,

N GRONCY

Options:

64535099575, 1
E4E350939576. 2
4535099577, 2
64535099578, 4

Question Number : 111 Question Id : 64635025372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following commands are used in SPSS—17 version for factor analysis :
(a) Analyse
(b) Factor
(¢) Data reduction
Select the correct sequence from the following
1. (&), (¢) and (b)
2. (a), (b) and (¢)
3. (b), {c) and (a)
4. (b), (a) and (c)

Options:
E4E35093579.

E4E35093580.
E4E35093581.
BA535093582,

[ N S

Question Number : 111 Question Id : 64635025372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HR fazawu & forw SPSs-17 # Rufefad srie o1 var &g wa & o srar 22
(a) fawdwor
b) FRS
(c) ST-3EH
Fofaied § 9 98 %9 g
. (a), (©) ¥R (b)
2. (a), (b) 3R (c)
3. (b), (0 3R (@
4. (b), (@) R (o)

Options:
45350393579, 1
64535093550, 2

E4E35099581. 3



EAE35099582. 4

Question Number : 112 Question Id : 64635025373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mid day meal aims to

1.  avoid classroom hunger, address malnutrition, avoid mental sickness
2.  increase school enrolment, increase school attendance, address malnutrition

3.  increase school attendance, avoid student unrest, avoid communicable
disease

4. increase school enrolment, increase school attendance, avoid student unrest

Options:

64535099583, 1
64835099584, 2
E4E35099585. 2
64535099586, 4

Question Number : 112 Question Id : 64635025373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Qg HIST &1 1 35 87
1. ST H Y@ TF I 9], FUNT W GH &1, ARG 0 S 591
2. dd sE-Uellewr H gig, d § Iuiifd | gig, ulver w e &t
3.  odH Iuff A g - Eay I S941, ShHe SHR S S99
4. THdH SE-UoeW | ie, Thd | Iurifd # gig, 8- Nay d S5

Options:

64535099583, 1
64535039584, 2
64535033585 2
E4E35099586. 4

Question Number : 113 Question Id : 64635025374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The History of Physical Education in Greece has been divided into four periods. They
are as follows

(a) Spartan period
(b) Early Atheman peniod
(¢) Homeric period
(d) Golden period
Arrange chronologically considering the time period and select the correct option :
1. (b, (c), (@), (@)
2. (c), (@), (b), (d
3. (o) (), (D), (@)
4. (a), (), ), (¢)

Options:

4535099587,
64535099588,
64535093589,
64535093590,

b LI P

Question Number : 113 Question 1d : 64635025374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I B IR Ren % siiem o IR et | [uifsk femma g 13 €

(@) AP

(b) UREE g B
(c) U BTa

(d) o ®m@

YHI-PTe B! & B T8 T BITHHHER 9d S iR I8 e gHu:

L. (b), (0, (@, @
2. (0 (a), (b), (@)
3. (e) (b), (@, (@
4. (a), (b), @), (¢)

Options:

64535093587,
E4E3509958E.
4535099589,
4535099590,

o IR

Question Number : 114 Question Id : 64635025375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The majonty of intramuscular stores of ATP-PC depleted during
exercise are restored after an hour of the recovery period.

Reason(R) : The energy required for phosphagen restoration is provided mainly by
the aerobic system working in the rapid recovery phase of oxygen
debt.

Select the correct option :
1. Both(A)and (R) are true and (R) is the right explanation of (A)
2. Both (A) and (R) are true but (R) is not the right explanation of (A)
3. (A)istrue but (R)is false

4. (A)1s false but (R) 1s true

Options:
64535099591, 1
64535039592, 2



E4E350995393. 3
64535093554, 4

Question Number : 114 Question Id : 64635025375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AIHBYT(A) : T S GRE IANE & T8 T 3 Uit — o ft & e HSR wiaws
(et s@fl & ue weT 915 gF: RINd g i 2

d@ (R) . hiebor AW (FEREE) & g siféa S gerd: sigdien 3¢ @i
mgﬁgwtwmﬁmwmwm
ML |

Tel fdwea g :
1. (A)3R(R) TH I ¢ 3R (R), (A) B! TT! AR ¢
2. (A) SR (R) GFIEE 8 A (R), (A) BT el o T ¢
3. (A)TEE dfeT (R) TAd B

4. (A) @A g, A5 (R) TR B

Options:

48235099591, 1
E4E35099592. 2
64535099592, 5
64535099594, 4

Question Number : 115 Question Id : 64635025376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : All types of strength training does not produce equal amount of
muscle hypertrophy.

Reason (R) : The stimulus for increase in muscle size is given by an imbalance in
breakdown and synthesis of ATP and other muscle proteins.

Select the correct option :

1. (A)and (R) are both true and (R) 1s the correct explanation of (A)

2. (A)and (R) are both true but (R) is not the correct explanation of (A)
3. (A)istrue but (R) is false

4. (A)1s false but (R) 1s true

Options:
645350935495 1



E4E350995396. 2
64535093557, 3
645350935358, 4

Question Number : 115 Question 1d : 64635025376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MVBYT(A) : TH VHR & i WiRrefor ¥ gu= AET # AR sfagfe =d erd g1 |
a5 (R) . [N MR ® 3ig & foru SEive v & Ot ok o wigusig v &
g ok STV § Srige g a1 o 2

el faweu g -

1. (A)IRER) I IHE MR (R), (A) 3 TE =ren g

2. (A)MER)IANIDE BFGR), (A) Fa smen T8 g

3. (A)FEle, g (R) TEa B

4, (A) T g, g (R) T

Options:

64535099595, 1
E4E35099596. 2
64535099597, 5
64535033598, 4

Question Number : 116 Question Id : 64635025377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Axis and planes are imaginary concepts which describe the type of
movement and location of body.

Reason (R) : A line passing through the body at right angles to the median plane
divides body into posterior and anterior portions.

Select the correct option :
1. (A)and (R) are true and (R) 1s the correct explanation of (A)
2. (A)and (R) are true but (R) 1s not the correct explanation of (A)
3. (A)istrue but (R)1s flase.

4. (A)is false but (R) 1s true

Options:
64535099599, 1



E4E35099600. 2
64535093601, 3
B4E53509360%2. 4

Question Number : 116 Question 1d : 64635025377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HBUT(A) : 3¢ 3R Td HIeUe ATYRUE & o fpdt a5 B T F TR 3R 39S
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Tl fdwen gu -
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Options:

64535099599, 1
E4E35099500. 2
4535099801, 2
64535029602, 4

Question Number : 117 Question Id : 64635025378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Motivational feedback attempts to facilitate performance by two of the following
factors :

(a) Creating a positive mood
(b) Pumshing

(¢) Enhancing confidence

(d) Rewarding
Choose the right option :
1. (a)and (b)
2. (b)and(d)
3. (@and(c)

4.  (c¢)and (d)
Options:
64535033603, 1
64535099604, 2
645325099605, 2
64535093608, 4

Question Number : 117 Question Id : 64635025378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fafeEd H19 9 & SRS| BT ATER S NS Hfagf® Fure &1 gew 91 &1 ™
HI g —

(a) TPRIHAD AHIG BT Yo BId §U

(b) TUS T

(c) Tayrd H 3w oo

(d) BRI

e} ey &1 997 Fifom:
1. (a) @1(b)
2. (b))
3. (a)TT(c)
4. (c) au(d)

Options:

E4E35093603. 1
64535093604, 2
64535093605, 3
645350936086, 4

Question Number : 118 Question Id : 64635025379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Before 1947, how many physical education institutions were there in India?

l. 3
2. 4
3. B
4. 7

Options:

64835099607, 1
4535099808, 2
64535099609, o
64535099610, 4

Question Number : 118 Question Id : 64635025379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1947 | Ugd HRA A fhad IR Rem g=ym= 47

1 3
2 4
3 7
4, 7

Options:

64535099607, 1
64535039608, 2
4835099209 2
4535099210, 4

Question Number : 119 Question Id : 64635025380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Philosophy 1s a field of inquiry that attempts to help individuals
evaluate, 1n a safisfying and meamngful manner, their relationships to
the umverse.

Reason (R) : One’s philosophy influences the objectives or outcomes of one’s
programmes and the methods by which three objectives are attained.

Select the correct option :
1. Both(A)and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istrue, but (R) 1s false

4. (A)is false, but (R) is true

Options:

64535099611, 1
64535039612, 2
64535039613 2
4835099514, 4

Question Number : 119 Question Id : 64635025380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AMFBYT(A) - X o= IS U & B of ufeaal &1 SEe & 9N 3% dadl &1 US
Ao 3R TRl 37 9 Hedie # 9gadl Sl g

& (R) . ot =afed o1 X I9% HHEHl & IexT U1 URumEl 2R 3 [t St
THITAT ST g, o gRT diF Se=d Urd fou o &

et fdeed g -
. (A) RE®R) T I EAUR), (A) 3198 T2
2. (A) ¥RE®) SF T E, ST (R), (A) ST TEI S Tl 2
3. (A) S8 AT (R) T B
4. (A) TEAE, M (R) T

Options:

64535099611, 1
4835099512 2
45350998132 =2
64535099614, 4

Question Number : 120 Question Id : 64635025381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion {A) : It has been seen that the concentration of ATP and PC in muscles is
same for males and females.

Reason (R) : The difference in performance is due to vanability in the muscle
fibres of males and females.

Select the correct option :
1. Both(A)and (R) are true and (R) 1s the right explanation of (A)
2. Both (A) and (R) are true but (R)is not the right explanation of (A)
3. (A)is true but (R)is false

4. (A)is false but (R) is true

Options:

64535099615,
4535099616,
64535099617,
64535099618,

o LI M

Question Number : 120 Question Id : 64635025381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

HUYSYF(A) : T 3@ T ¢ fF goEl SR Aigenei | oikmt | v b ok ot It &t Tigan
TS SRl gl g

T [R) . YR ofR gIET SR ARarsh § O argalt A i F BRI ST 2 |
T fawen gfu
1. (A) SRR T FEE R (R), (A) F 98 B
2. (AP IF T EFIR), (A) B e
3. (A) R g R) T §
4. (A)TEAE BFgR)TET

Options:

64535099615, 1
E4E35099816. 2
4535099817, 2
64535029615, 4

Question Number : 121 Question Id : 64635025382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Posture, the body alignment is controlled by static and phasic
reflexes. While static reflexes involve sustained contraction, phasic

reflexes relate to transient movements.

Reason (R) : The integrative patterns of posture are predominated by automatic and
unconscious, resulting from the shifting of weight.

Select the correct option :

1. (A)and (R) are true and (R) 1s the correct explanation of (A)

528 (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R)1s false
4. (A)1s false but (R) 1s true

Options:

4535099619, 1
64535029620, 2
64535039621, =
64535039622, 4



Question Number : 121 Question Id : 64635025382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ISYT(A) S =0T (URER), S WU (Sis! TaRT<) &1 FuE 2fde & fies)
T VAR (o) vidad (e § gt 81 |ifde vfaad ® gaa
H’@%ﬂg@m%ﬂaﬁmﬁ@ﬁwﬁaﬁﬁ&rﬁm@ﬁmnﬁmmﬁa

!

T (R) - 3 Ao 1 Tt vl @R i) |
H@Td: YR & uRad & uRuTAesy Wa: U R Simfi=arg @ Fafa g 2

gt e g :
1. (A)R(R) T I8 T AR (R), (A) 398 IR I
2. (A)IARER)IH TEE RYR), (A) P HE T T &
3. (A)FEE gR TEat
4. (A)TEd g HGR) TE T

Options:

64535099619,
64535093620,
4835099621,
4535099622,

o P

Question Number : 122 Question Id : 64635025383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Aggression 1s one of the personality trait believed fo be associated
with athlete success.

Reason (R) : Aggression in sports 1s the direct result of increased professionalism
and resulting financial incentives to win.

Select the correct option :
1.  Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
3. (A)is true but (R)is false

4. (A)1s false but (R) 1s true

Options:
64535099623, 1



EAE35099624. 2
B4E535093625. 3
EAE35093626. 4

Question Number : 122 Question 1d : 64635025383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IYGYT(A) :  IATHHG Hioam BT AU § o TUdic ot Ihadl 8 I a1 o 2

& (R) . W9l H IMFHGdl S5l g3 Aaddmal @ dier gomm € o Rk
W A g 21 |

et e g

(A) T (R) TFI 981 8 TG (R), (A) P I TR B

2. (A)T(R) T 9 § RY(R), (A) P I IR B
(A) HE1 8, T (R) T 8

(A) TEd 8, I (R) W1 8

[

Ll

-

Options:

64535099623, 1
64535039624, 2
64535039625, =
64535039626, 4

Question Number : 123 Question 1d : 64635025384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Achievement-based curniculum caters to

(a) special needs of the students

(b) high expectations of the students

(¢) legislative mandate on education

(d) early detection of difficulties in learning

Select the correct option :

-

e

=

Options:

EAEZ5099627.
BAE35093628.
EAE35093625,
64535093630,

Question Number

(a) and (c)
(c)and (d)
(a) and (d)
(a) and (b)

[ N

1 123 Question Id : 64635025384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Iudfs i ursTeal [ Sl 8
(a) e o1 Ay smazgwmaet &1
(b) fenffal @t 3= semsi &t

() fem Taeh Remh site= &1
(dy oiftnm o g &1 e vga=
el fdwey giu -

%

2.

(a) 3R (c)
(c) 3R (d)
(a) 3R (d)
(a) 1R (b)



Options:

64535099627, 1
4835099528, 2
4535099829 2
64535029620, 4

Question Number : 124 Question Id : 64635025385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the imtial steps of construction of swimming pool in proper sequence :

(a) Geta permit
(b) Excavate the area
(¢) Design the pool
(d) Grade the ground
Choose the right option from the options given below :
1. (e), (b), (d), (&)
2. (a), (b), (c), (d)
3. (d), (), (@), (&)
4. (o), (a), (b), (d)

Options:

64835099631, 1
4535099832, 2
64535039633, o
64535099624, 4

Question Number : 124 Question Id : 64635025385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et aeuT aTE (T @) & i & RN 9wl &1 98 SFmH W SIaiRid Sifen |
(a) SrIAfd (WRIAS) U BT
(b) &3 B I@T BT
(c) O (Yo B 3iTHed ((Sors) TR HE
(d) YW @1 Fufleo B
fed M faswet A 9@ 98t IR g
L. (e), (b), (@), (a)
2. (a), (), (o), (@
3. (@, (o), @,
4. (@, @, @, (@

Options:

64535099631, 1
4835099832 2
45350998323 2
64535029624, 4

Question Number : 125 Question Id : 64635025386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hick’s badminton test consists of three items. Identify the test items from the options
given below :

(a) Standing backward jump

(b) Clear test

(¢) Smash test

(d) Shuttle run test

(e) Strategy test

Choose the right answer from the options given below :
(a), (b) and (d)

2. (), (¢) and (e)

3. (a), (b) and (e)

4. (b), (¢) and (d)

—

Options:

64535099635, 1
64535039636, 2
48350998327, 2
45350995328, 4

Question Number : 125 Question Id : 64635025386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2w YsficT wHiewr A dF 7 gd 1 7= T e Ao 3 wlien 7l &t ugam a1

(a) & Ipas o

(b) fRmReE

© WWE

(@) wAdsTE

() WIshe®

T TR BT TG P
1. (a), (0) 3R @
2. (b), (0 ¥R (¢
3. (1), (b) 3R (e
4. (b), (¢) 3R (@)

Options:

B4535093635. 1
64535093636, 2
E4E535093637. 3
EAE3509963E. 4

Question Number : 126 Question Id : 64635025387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : In interval scale, distance between any two consecutive numbers on

the scale 1s uniform.

Reason (R) : Data measured on interval scale can be classified into different

categories and can also be graded.

Select the correct option

Options:

1.  Both (A)and (R) are true and (R) is the correct explanation of (A)

Z. Both (A) and (R) are true but (R) is not the correct explanation of (A)

a

(A) 1s right and (R) 1s wrong

4. (A)is wrong and (R) is right



EAE35099639.
B4535093640,
E4535093641.
64535093642,

[ N N

Question Number : 126 Question Id : 64635025387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UHYT(A) - 3iawd A= H fodt A=t | gl @ sishive Semsil & 79 &1 gl
% 94 gt g

d® (R) . 3T WG § AT T Ses @1 fafte Sfvrat # aifed fu o & am-
1y guiteg i s o 9ean 2 |

Tet fiwe g -
1. (A)MRE) T IS 3R (R), (A) S T5! TS 2|
2. (WIRETATIE FFg®R), (A4) 2w TBTTe T
3. (A)FEIE R (R) T ©
4. (A)TEAE IR (R) AT

Options:

4535099630, 1
64535039640, 2
64535039641, =
64535039542, 4

Question Number : 127 Question 1d : 64635025388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—=I wath List-II :
List—I List—I1

(a) Skl (1)  Motor procedure for tackling
a motor task

(b) Style (1)  Individual expression for a
series of motor actions

(¢) Technique (1i1)  Highly advanced control and
regulation process of motor
coordination

(d) Skllful movement (iv)  Automatisation of motor task

Select the correct option :

L (a)-v); (b)-(1); (e)-(11); (d)—(1)
2. (a)yu); (b)-(v); (e)-); (A1)
3. (a)-(v); (b)-(1); (e)(1); (d)ii)
4. (a)-(); (b)1); (e)—(iiL); (d)-(v)

Options:

64635099643, 1

64635099644, 2

E4E35099645. 3
EAE3509964E. 4

Question Number : 127 Question Id : 64635025388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



11 B -1 F AT HIforg
-1 a1

(a) DRE G) vt & AT ’g
Tifces wigsan

(b) et (ii) 9gd 9 id® &1 & fog
e sfHegfad

(¢c) do-tH (i)  Tide 9H-Gd F Afs
Tad == 3R STt
fafam wighan

(d) qﬁ-‘{mgqﬂ BERE (iv) T &1 &1 e

ﬂ%ﬁﬁmﬂﬁq:

1 (a)-(v); (b)-(); (o)-(u); (D—1)
2. (a)-(u); (b)-Qv); (0)-1); (d)—-1)
3. (a)-(v); (b)-(); (¢)-1); (d)—11)
4. (a)y-(); (b)-); ()(u1); (d)-Gv)

Options:

64535099643, 1
64535039544, 2
4535099845 =2
64535099646, 4

Question Number : 128 Question Id : 64635025389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II ;
ListI List-1I1
(a) Stretchability (1)  Execute movements with
greater range

(b) Suppleness (1)  Length of muscle and
ligaments can be increased
and regained automatically

(¢) Flexibility (iii)  Degree of movement in
different planes at joint

(d) Mobility (iv)  Muscles remainin a state of
low tension and easy
movement is possible

Select the correct option :
1. (@-v); (0)-); (0)-(i); (d)-iii)
2. (&), (B-v); (0-Q); (D
3. (@) (0)-0); (e)-1); (D)
4. (a)-(); (b)Hu); ()-v); (d)—1)
Options:
64635099647
64635099648
64635099649
64635099650,

o IR

Question Number : 128 Question Id : 64635025389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 ot gE-11 § gafta S
-1 -1

(a) fEEmETT (i) o) IR & 1Y Hee
ST

(b) = (i)  wEoL SR EFg B!
TS &l Wd: 911 3R
T a8} TR @ S
qHd1 2

(¢c) =S (i)  Tafds ey aei | S99
I ot fg

(d) Tfa=itea (iv) UMY $H a4 B
fRufa H et € ol g™
I GHT BT e

el fawed gi-e

L. (a)-v); (b)—(1); (c)-(ib); (d)(i1)
2. (a)-(); (B)-(v); (e)-(1); (d)(ui)
3. (a)y-(); (b)-); (c)~(n); (d)-(v)
4. (a)-(ii); (b)(ii); ()-iv); (d)i)

Options:

64535099647, 1
64535039648, 2
64535039549, 2
4835099850, 4

Question Number : 129 Question Id : 64635025390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Functions of fats and oils in human nutrition
(a) provide concentrated source of energy
(b) help in clotting of blood
(c) spare protein for body building function
(d) act as cushion to certain vital organs

Select the correct option :

1. (a)and (b)
2. (a)and (d)
3. Only(a)
4. Only(c)

Options:

64535099651, 1
64535039652, 2
64535039653 =
64535039554, 4

Question Number : 129 Question 1d : 64635025390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T O A q SR A S B & -

(@) SOl & Yhiad Gid B U Sl 2|

(b) Y& & Whe [@@INeT 3% s78) H g™l Bl gl
(c) TRR AT HE § U o1 %0 IuaT e SaE 2|
(d) TS HEOUY S & ‘PIT & ©YH B I

el fdeweu giHu -
L (&) SR (b)
2. (a) M)
3.  &ad(a)

4.  &Had(c)



Options:

64535099651, 1
4835099852 2
4535099852 2
64535029654, 4

Question Number : 130 Question Id : 64635025391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List—I List-I1

(a) Idealism (1)  Deals with concept of self
entity of human beings

(b) Realism (1)  Deals with truth based on
one’s experiences

(¢) Pragmatism (1)  Deals with the mind as central
to understand

(d) Existentialism (iv)  Deals with the concept of real
physical world

Select the correct option
L (@)-); (b)); ()—1v); (DD
2. (a)-(v); (b)-(); ()-(u); (d)1)
3. (a)-(ui); (b)—v); (c)-(); (d)—(1)
4. (@)-Q); (D)v); (e)-(u); (d)~u1)

Options:

64835099655, 1
4535099856, 2
64535029657, o
64535099658, 4

Question Number : 130 Question Id : 64635025391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI &1 GEI-11 § gafea s
-1 -1

(a) 3meRfarg (i) B & - 3Hf&Ta B
IEYROT § ST 2|
(b) =rfarE (i) e P FTHI W
3memia 99 A e 2
(c) SHEERDAdG (111) R & s o &0
B nirs 9 Safd 2
(d) faar iv) drdfae Hifds Ry ot
SEYROT & 98 2
el fawen gi-u -

L. (@-ai); (b)-ii); (©-v); (1)
2. (a)-v); (b)-G1); (¢)-Gib); ()1
3. (aHGit); (b)-Gv); (1) (1)
4. (a)-@); (D)~iv); (1), (i)

Options:

4535099655, 1
64535099656, 2
64535039657, 2
64535039658, 4

Question Number : 131 Question 1d : 64635025392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : The changes in body composition resulting from aging are primarily
due to decrease in basal metabolic rate and physical activity.

Reason (R) : Exercise had been shown to preserve lean body mass, decrease fat
stores and stimulate protein syntheses.

Select the correct option :
1. Both(A)and (R) are true and (R) is the right explanation of (A}
2 Both (A) and (R) are true but (R) 1s not the right explanation of (A)
3. {A)i1strue but (R)1s false

4. (A)is false but (R) is true

Options:

4535099650,
4535099660,
64535099661,
64535093662,

e LI M

Question Number : 131 Question 1d : 64635025392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IUFUT(A) : 3G Fg- TN MR I G | Sgad §&F FY 4 99 IU0IIT X B
! 3R IR TR )t Hi F HRo g g

a5 (R) . YRR T gIA-TqA1 T @S & o0 a8 o & (5 a9 3t St 8, e
TIEH HRAw gl
Tel fawey gi=u :
1. (A)RR) T T AR (A) 3t ag A (R) T
2. (A)RR) T MR (A) 3T TS (R) TENE
3. (AW E RYR) T
4. (A) T B TG (R) WETE

Options:

4835099659,
4535099660,
4535090661,
4535090662,

o LIRS

Question Number : 132 Question Id : 64635025393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Match List—I with List-II :

List—I List—II
(a) Inertia (1)  Force x Time
(by Momentum (1) Mass
(c) Weight (i)  Mass x Velocity
(d) [mpulse (iv)  Mass x Acceleration due to
oravity

Select the correct option :

1. (a)-(i); (b)v); (e)-(1); (d)1i)
2. (a-); (b)); (o)); (D-Gv)
3. (a)-(); (b)n); (e)~(iv); (D)D)
4. (a)y-(ui); (b)-(1); (¢)-(1); (d)-(v)

Options:

4535099663, 1
64535099664, 2
64535039665, =
64535039666, 4

Question Number : 132 Question 1d : 64635025393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 31 -1 | FAferd i
-1 |

(a) SigE (R i) ¥ x

(by ST (HH=H) (i)  SoOHME (H9)

(¢) HR (@) (i)  ZHEM x 37

(d) 3mET G (iv)  SOHHEM x TH@ @0
Tel fdwer gi~u -

L (a)-(); (B)av); (e)—1); (i)
2. (a)-@; (b-Hw); (o)~u); (D)
3. (a)-u); (b)—ui); (e)~v); (D)
4. (ay-(m); (b)-Q1); (¢)—(u); (d)-v)



Options:

64535099663, 1
4835099564, 2
4535099865 2
4535029666, 4

Question Number : 133 Question Id : 64635025394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II

(Anxiety Reduction Technique)
List-1 List-II
(a) Progressive relaxation (1)  Johannes Schultz
(b) Relaxation response (11)  Ronald Smith
(¢) Autogenic training (111)  Edmund Jacobson
(d) Cognitive-affective stress (iv)  Herbert Benson
management technique

Select the correct option :
L. (a-(u); (B)-); (¢)-1); (d)-av)
2. (a)-(); (b)-(v); (¢)-(ur), (d)—1)
3. (a)-@); (b)-); ()u); (d)-av)
4. (@)-(u); (b)-v); (e)~1); (d)-(i)

Options:

4835099667, 1
64535099668, 2
64535099669, o
64535039670, 4

Question Number : 133 Question Id : 64635025394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 &1 -1 9 Hfed S
(ST T IHROT GBI
Teil-1 -1

(a) I e (i) SIEF e
(b) Rriddter seisa (ii) ITes By

(c) oI Uiem (i)  USHS SHegT
(d) IFFTHG—HEHS Ao (iv) gdcaa9q
([@T1d T dh-lo)
et e g -

1. (a)-ii); (b)-(i); (c)-(1); (dD—({v)

2. (a)-(i); (b)—iv); (c)-(ii); (d)—i)

3. (a)y-(1); (b)1); (c)1i); (d)-{v)

4. (a)-(ii), (b)-(v); (c)-{1); (d)—i1)

Options:

E4E350996E67. 1
64535029668, 2
64535039669, =
64535039670, 4

Question Number : 134 Question 1d : 64635025395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : The extent to which the needs of all the students 1n a class are met
with i1s often not viewed as an important determinate of quality
programme.

Reason (R) : A model consistent with the concept of individualised instructions
and accountability is the achievement-based curriculum model.

Select the correct option :

(=

Both (A) and (R) are true and (R) 1s the right explanation of (A)
2 Both (A) and (R) are true but (R) 1s not the right explanation of (A)
3. (A)istrue but (R)1s false

4. (A)is false but (R) is true

Options:



EAE35099671. 1
BAE35093672. 2
E4E35093673. 3
64535093674, 4

Question Number : 134 Question Id : 64635025395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (ATEE BYER TR

Options:

4535099671, 1
64535099672, 2
64535099673, o
64535039674, 4

Question Number : 135 Question Id : 64635025396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Every international and national sports organisation should have an
officer responsible for contacts and personal relations with the media.

Reason (R} : Contacts like name, telephone number of media officer should not be
disclosed before the media for confidential reasons.

Select the correct option :

p—t

Both (A) and (R) are true and (R) is not the correct explanation of (A)

P

Both (A) and (R) are true and (R) is the correct explanation of (A)
3. (A)istrue but (R)1s false

4. (A)is false but (R) is true



Options:

64535099675, 1
E4E3509987E. 2
E4E35099877. 2
64535029678, 4

Question Number : 135 Question Id : 64635025396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. (A)FE R, wie (R) Ted B
4. (A)Ted g afe= (R) I8t B

Options:

64535099675, 1
64535039676, 2
4835099677, 2
64535099675, 4

Question Number : 136 Question Id : 64635025397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-1 List-I
(a) A condition in which (1)  Lumbar kyphosis
cervical spine is curved
forward but the head and
chin are not dropped
(b) A condition in which the (11)  Cervical lordosis

normal curve 1n thoracic
region is increased

(¢) A condition in which the (111)  Lumbar lordosis
normal curve of the lumbar
spine is decreased until it is
eliminated

(d) A condition in which the (iv)  Dorsal kyphosis
normal curve of the lumbar
spine 1s exaggerated and
the pelvis tilts down in

front causing profrusion of
abdomen
Select the correct option :
1. (a-i); (b)iii); (e)—v); (1)
2. (a)-(w); (D)Hav); (e)-ii); (A1)
3. (a)y-u); (b)—1); (©-v); (d)-(m)
4. (a)—(u); (b)—wv); ()-1); (d)-(m)

Options:

64535099679, 1
64535039680, 2
645350396381, 2
48350995382 4

Question Number : 136 Question Id : 64635025397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(ii); (b)—(ii); ()—(iv); (1)
2. (@), (0)Hv); (e)-Gid); (1)
3. (@) )1); (0)-v); (d)—(1i1)
4. (@-(i); )-v); (e)-(1); (d)—(1ii)

et

Options:

64535099673, 1
4835099820, 2
45350996581, 5
64535099682, 4

Question Number : 137 Question Id : 64635025398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—I List—I1

(a) The most commonly used (i)  Intra-class correlation
method of computing
correlation between two
variables

(b) An ANOVA technique (1)  Inter-class correlation
used for estimating
reliability of a measure

(¢) A techmque used for (111)  Inter-tester reliability
estimating reliability of
multiple-trials tests
(d) A form of reliability that (1v)  Coefficient alpha
pertains to the testers
Select the correct option :

L. (a)-Gu); (b)-u1); ()-(v); (d)-1)
2. (a)-v); (b)-(m); (0)-); (D)
3. (a)-av); (o)-m); (e)-); (D)
4. (a)-(); (b)~); (0)—1v); (d)~(m)

Options:

64535099683, 1
48350399534, 2
4535099885 2
64535029686, 4

Question Number : 137 Question Id : 64635025398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a-); (b)—ui); (¢)-av); (A1)
2. (a)y-(v); (b)-(i1); (c)-(1); (d)—(i1)
3. (a)-Qv); ()—(m); (o)-(w); (d)-)
4. (a)-@); (b)~); (©-v); (d)-(m)

Options:

4835099683, 1
4535099824, 2
64535099685, o
4535099686, 4

Question Number : 138 Question Id : 64635025399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : Micronutrients are required in our body in very less quantities.

Reason (R) : They are less important for normal functioning of human body organs
and systems.

Select the correct option :
1. Both (A)and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)istrue but (R) 1s false
4. (A)is false but (R) 1s true

Options:

64535099687,
64535093688,
4835099689,
4535093630,

[ N

Question Number : 138 Question Id : 64635025399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. (A) 9IS AP (R) Ted B

4. (A) T g AfFF (R) T8 B
64635099687
64635099688,

E4535093659.
E4E35093630,

o P

Question Number : 139 Question Id : 64635025400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the press release information in proper sequence from earlier to later stage in
relation to coverage of sports event :

(a) Detail of competition, history of the event
(b) Date, place, invited teams
(¢) Complete information of the competitors” names and confirmed teams
(d) Arrival of teams/athletes on the site at different timing
Select the correct sequence from the following :
L. (b), (¢), (d), (a)
2. (a), (), (o), (d)
3. (a), (d), (), (b)
4. (¢), (b), (d), (@)

Options:

64535099691, 1
64535039692, 2
4835099592 2
4535099594, 4

Question Number : 139 Question Id : 64635025400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b), (¢), (@, (@)

2. (a), (b), (c), (d

3. (a), (), (o), (b)

4. (o), (), (@, @

Options:

45350996491, 1
64535099692, 2
64535099692, o
64535039694, 4

Question Number : 140 Question Id : 64635025401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List—I List—I1
(a) Biacromial diameter (1) Knee width
(b) Bicristal diameter (11)  Shoulder width
(¢) Bitrochanteric diameter (111)  Abdominal width
(d) Femur bicondylar diameter (iv)  Hip width
Select the correct option :
1. (a)-(ui); (b)-(v); (¢)-(); (d)—1)

i

(a)-(11); (b)-(111); (¢)-(av); (d)-1)
3. (a)-(u); (b)-(w); ()—1); (d)-(v)
(a)-(11); (b)-(1v}); (c)-(u1); (d)—1)

o

Options:
4525099595,

EAEZS09963E6,
EAE350936597.
E45350936398.

[ N

Question Number : 140 Question 1d : 64635025401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (a)-Qu); (b)-Qv); (¢)-(); (d)—1)
2. (a)y-(u); (b)—(u1); (c)-(v); (d)—1)
3. (a)y-(u); (b-u); (—D; (d)-iv)
4. (a)-(i); (b)~iv); (e)—(11); (d)—1)

Options:

64535093635, 1

645350996396, 2

B4535093657. 3
64535093635, 4

Question Number : 141 Question 1d : 64635025402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I wath List—II :

List—I List—II
(a) Research studies which (1)  Observational research
describe facts as they come
by
(b) A non-experimental (1)  Ex-post facto research
conceptual research based
on logical thinking
(¢} Experience and (1i1)  Philosophical research

observation-based research
aiming to determine casual
relationship among factors

(d) A field of natural study of (1v)  Empirical (Experimental)
epidemics, plant growth, research
child growth, bird-animal
or crowd behaviour

Select the correct option :
L (@-); (0)iv); (01, (d)iil)
2. (a)y(u); (b)~m); ()—-(v); (-1
3. (a)-(m); (b)-Q); (e)—); (d)—(v)
4. (a)-(m); (b)-(1); (c)-(1); (d)-av)

Options:

45350996990, 1
64535099700, 2
64535039701, =
64535033702, 4

Question Number : 141 Question 1d : 64635025402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(d) WEMRY, Ueu-fAem, S1aw- (v)  vanTHE® oY
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wet fea 9T
Lo (a)y-Q); (B)-av); ()-(1); (d)~11)
2. (a)y(1n); (—ui); ()-(v); (D)
3. (a-u); (b)-); (e)-(1); (d)-Gv)
4. (a)=(u); (b)—(); (¢)-(1); (d)-v)

Options:

64535033699, 1

64535033700, 2

64535093701, 3
64535093702, 4

Question Number : 142 Question Id : 64635025403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-I List-1I
(BMI Range) (Category)
fal =185 (1) Class—I obesity
(b) 18.5-24.9 (11) Normal weight
(¢) 25.0-299 (111) Underweight
(d)  30.0-34.9 (iv) Overweight

Select the correct option :
1. (a)-(u); (b)-Qv); (e)-(u); (d)H1)
2. (a)-(u), (b)), (e)—(1v); (d)—H1)
3. (a)-1); (b)-u); (e)1); (d)-(v)
4. (a)-); (D-v); (e)—in); (D))

Options:

4535099703, 1
64535099704, 2
64535039705, =
64535039706, 4

Question Number : 142 Question 1d : 64635025403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@) <185 (i) Farg-1 ArerdT

(b) 18.5-24.9 (i)  THFHR

(¢) 25.0-29.9 (i) I HR

(d) 30.0-349 iv)  oifds o=
Tel fawed giu ;

1. (a)-(i1); (b)~(v); (c)-(i1); (d)—1)
2. (a)-(u); (b)-(); (c)-(v); (A1)
3. (a)-(); (b)-(ir); (c)-(1); (d)-(v)
4. (a)-(1); (b)~(1v); (c)-(i1); (A1)

Options:

CAEZEE03970=2 1

CAEZEQE99704, 2

E4E350339705. 3
E4E35093706. 4

Question Number : 143 Question Id : 64635025404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following are some of the track and field athletes :
(a) Sergei Bubka

(b) Bob Bimon

(¢) Jola Budd

(d) Merry Decker

() AnjuBobby George

(f) Jackie Joyner

(g) T.C. Yohannan

Among the above listed names, the long jumpers are:

1. (@, ®). (. (@
2. (b)), (o), D)
3. (B, (), (@), @
4. (d), (), (O, (&

Options:

64535099707, 1
64535039708, 2
4535099709 2
64535099710, 4

Question Number : 143 Question Id : 64635025404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a), (b), (&), (®
2. (b, (e O @
3. (b, (o), (c), (@)
4. (), (o, @), @

Options:

64535099707, 1
64535039708, 2
64535033709, 2
E4E35099710. 4

Question Number : 144 Question Id : 64635025405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-1 List-11
(a) Amphetamines (1)  Clears ammonia from blood
(b) Aspartic acid (11)  Imitiates buffering system
(¢c) Alkaline (111)  Imtiates fat metabolism
(d)  Caffeine (iv)  Neuromuscular excitation

Select the correct option :
L (@-v); (b)) (o)), (i)
2. (@), (b)—Gv); (1), (i)
3. (@-(0); (W)ui); (e)-1); (D-Gv)
4. (a)-v); (b)), (e)-(i1), (d—(11)

Options:

64535099711, 1
64535039712 2
4535099712 2
64535099714, 4

Question Number : 144 Question Id : 64635025405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (@-(v); (b)-D); (c)-(i); (d)—{1i1)
2. (a)-(m); (B)-av); (0)~1); (d)~m)
3. (a-u); (b)) (-0 (d)-av)
4. (a)-(v); (b)) (e)-(u); (D—(11)

Options:

64535099711, 1
64535039712 2
64535039713 2
64535033714 4

Question Number : 145 Question 1d : 64635025406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II
(a) Displacement inanangular (1)  Angular displacement
path
(b) Body moves ona (1)  Angular speed
horizontal axis, path taken
between initial and final
positions
(¢) Bodymovesona (1)  Angular velocity

horizontal axis, the smaller
of the two angles between
initial and final positions
(d) Angular distance covereda  (iv)  Angular distance
body against time

Select the correct option :
L (@)u); (0)-iv); (e)-(i); (D—1)
2. (- (b)-av); (o)) (d)-w)
3. (@) (-); ()~1un); (d-av)
4. (@), (D-); ()v); (d)-m)

Options:

4535099715, 1
64535099716, 2
64535039717, 2
64535039718, 4

Question Number : 145 Question 1d : 64635025406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (@-@); (b)-v); (c)-(u); (d)-1)
2. (@), (D)-v); (c)-); (d)—~1)
3. (a)-@); (b)-(1); (o)~iid); (d)-(v)
4. (a)y-(); (b)-1); (0)-(v); (d)~(m)

Options:

64535099715, 1
64535039716, 2
64535039717, 2
4835099718 4

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :
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Question Id : 64635025407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (146 to 150)
Juestion Label - Comprehension



Fluid friction is the resistance between a solid and a fluid (liquid or gas) during relative
motion. Fluid friction results from two types of fluid flow during motion :

(1)  Laminar flow, which is the flow of air or water around a solid object which 1s
relatively smooth.

(11) Turbulent flow 1s flow of air or water around a solid object which produces rough
eddies and low pressure areas (cavitations).

The two fluids of primary interest in human motion are air and water. The effective
factors for fluid friction are as follows :

(a) Relative velocity between the object and the flnd
(b) Shape of the object and its active surface area

(c) Surface texture of the object

(d)  Flwud pressure

(e) Temperature of the flud

Fluid friction () can be expressed in the equation F = KPSV*/2, where K is a numerical
coefficient depending upon the shape and texture of the body and its attitude to the flmd
flow, P 1s the flmid pressure, S 1s the active surface area of the body over which the
fluid stream passes and V" 1s the relative velocity of the fluid to the body.

Sub questions

Question Number : 146 Question 1d : 64635025408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Low pressure areas are created by
1.  surface texture of the object
2. turbulent flow
3.  laminar flow

4.  cross-sectional area of the object

Options:

64535099719,
4835099720,
4535099721,
64535099722,

o IR

Question Number : 147 Question Id : 64635025409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Shape and texture of the object determine

. K
T
3 S
4. ¥

Options:

64535099723, 1
64535039724, 2
64535039725, 2
4835099726 4

Question Number : 148 Question 1d : 64635025410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Velocity of the passing fluid over the object determines

1.  surface texture of the object
2. flud friction
3. flud coefficient

4.  temperature of the fluid

Options:

64535099727, 1
E4E350939728. 2
64535099729, 5
64535099720 4

Question Number : 149 Question Id : 64635025411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Flud friction depends directly on
1.  flud pressure, active surface area and inversely on relative velocity
2. fluid pressure, active surface area and relative velocity
3. active surface area but inversely on fluid pressure and relative velocity

4. relative velocity but inversely on fluid pressure and active surface area

Options:
64535099731, 1



EAE350399732. 2
64535099733, 3
64535093734, 4

Question Number : 150 Question 1d : 64635025412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The flow of air or water around a solid surface which is relatively plain creates

I, turbulent flow

2. laminar flow

3.  velocity of the flud

4.  attitude of the fluud

Options:

4535099735, 1
64535099736, 2
64535039737, 2
64535039738, 4

Question Id : 64635025407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Number : 146 Question Id : 64635025408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835099719, 1
4535099720, 2
64535029721, 5
4535099722 4



Question Number : 147 Question Id : 64635025409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835099723, 1
64535099724, 2
64535099725, 5
64535039726, 4

Question Number : 148 Question Id : 64635025410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835099727, 1
4535099728, 2
64535029729, 5
64535099720 4

Question Number : 149 Question Id : 64635025411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535099731, 1
64535099732 2
64535039733 2
64535039734 4

Question Number : 150 Question Id : 64635025412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535099735, 1
64535039736, 2
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